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(97t 20 vH =27 AE)
= (AE°] 4em 1 G2 20 HY)
= 4x3.14 % 20 = 251.2( cm)
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7. 2R RAEER HE 27159 FHolE TS,

(6em)

2cn
> E cm?
> ®E . 37.68cm?

(F4¥le]) =6x3.14 x 2 = 37.68 (cm?)
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[ x2x3.14x2=237.68

[ ]x12.56 = 37.68




9. YIEY AAEES B, U5 AHelE FHAL.

(3 W] Hol) = 3x 3 x 3.14 = 28.26(cm?)
(F4o]) =3x2x3.14 x 8 = 150.72(cm?)
(Aol = (3 2 Wol)x2+ (F4Hol)

= 98.26 x 2 + 150.72 = 207.24(cm?)




10. the 97159 AEolt @ am? AU
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@ 942 cm? @ 1256 cm? (@)1884(3112
@ 2198 cm? ® 2512 cm?

B

(& 299 yol)= (WHx]F)x (F¥FA5)x3.14
(dHol)= (A5)x3.14x (&°l)

(B¥lol)= (& B Hol)x2+ (F4Hol)

(3t ¥ o] Hol)= 10 x 10 x 3.14 = 314( cm?)
(Fy¥lo])= 20 x 3.14 x 20 = 1256( cm?)
(BYlol)= 314 x 2 + 1256 = 1884( cm?)




11.

—~

7159 BYlol)

(3 2] Wol)xa+ (Flel)

= (10x10x%x3.14) x2+ 10 x 2 x 3.14 x 12
628 + 753.6 = 1381.6( cm?)
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TTT-18.84em- -7 [Sem

® 150.76cm? @141.3cm3 ® 132.66cm?

@ 130.88cm? ® 114.08cm?

HH2] 2)= 18.84 + 3.14 + 2 = 3(cm)
o] Bu])= 3% 3x3.14 X 5 = 141.3(cm?)
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(6x6x3.14x10) — (2x2x3.14 x 10)
= 1130.4 - 125.6 = 1004.8(cm?)
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15. @2l Holrt 153.86cm? Q ¥7]F 2] W ol7t 527.52cm? & o,
=
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(Byoh)=(Euol)x2+(FH°l)

527.52 = 153.86 X 2 4+ 7 x 2 x 3.14x (%£9])
527.52 = 307.72 + 43.96x (=°))

(%=0°])= 219.8 + 43.96 = 5(cm)
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>
> & 753.6mL

(97159 dEo])=10x 3.14 x 8 = 251.2( cm?)
kA A EE B2 251.2 x 3 = 753.6(mL) YUt




17. % 27159 #3925 T840,

[ 2
> Heh: 339.12cm?

(2% 47159 F1)
=6x6x3.14 x 2 = 226.08( cm?)
QEX A7|F9 7))
=6x6x3.14 x5 = 565.2( cm?)
T 9759 Ful o] A=

565.2 — 226.08 = 339.12(cm?)
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4x4x314x][ |=351.68, [ ]=7(cm)

whebA ALY O] 99 dol=

(8% 3.14+T7)x 2 = 32.12 x 2 = 64.24(cm) Y}
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AU o] ), Y 2o gfo] 1A BF

Bope] BE0| g Weie] Yol

ASHA O] H1])=8 x 8 x 8 = 512( cm?)

(

(93 =9 F)=512x g = 448( cm?)

(B5 2] E9])= 448 x 8 = 3584( cm?)

(259 g ZH2 Yol)= 3584 + 28 = 128( cm?)
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533.8 cm?

B \
By oS F5te] F Hi o ghofl 919 22 W75 dylolet
ol 2 97152 FuolE T T g
(TxTx314%x2)+ (4x3.14x4+14%x3.14x4)
= 307.72 + 226.08 = 533.8( cm?)




